—~ B R AA=7" vayn’ .

B E fF - 40 A4E1LA 8H (k) NFEB v )= 57
Ak oty 7 hH SMALL - 128 A (B4 - 103N - Z&tt: 250)
HDCP _L[R - T §Td . L
BLE—2: H1 O0@e0® #H OE@DDO® (1/2
FUEMLELE © s (@EVIE) - BT ChEWIE ENR : &F0 44110 8A (k)
BNE4 th i) GROSS | HDCP | NET fii= JE{E BINEL 1 i) GROSS | HDCP | NET fifi=
] e A 40 40 6.0 34.0 41 i | /AR TE— 50 50| 13.2) 36.8
KA i 50 50 15.6| 34.4 42 fir | T 50 50| 13.21 36.8
3 L) i R 49 491 14.4| 34.6 43 {if | FEH BT 50 50| 13.2] 36.8
At BT 43 43| 8.4] 346/ Fa>X VAL gk i 37 37| 0.0/ 37.0
ST RR 3LE 42 421 72| 34.8 45 1| e« A M 43 43|  6.0] 37.0
CLFL Fese 11 41| 6.0] 35.0 46 (| Mk EA 43 43| 6.0] 37.0
B FE 39 39 3.6 35.4 47 {ir | IRE FEk 43 43 6.0/ 37.0
8_(L T T 39 39 3.6] 35.4 48 AL [IE = 43 43 6.0/ 37.0
O (r T EE 44 14] 8.4 35.6 49 fir | AT Bk 49 49 12.0| 37.0
0, | #R3R PER 38 38| 2.4] 35.6 50 {ip| 9% —iZ 42 42|  4.8| 37.2
KR Foth 44 44 8.4| 35.6 51 fif | 8 B0+ 48 481 10.8] 37.2
DRE=r- G 62 62| 26.4| 35.6 52 {if | =il E|K 42 42 4.8] 371.2
L (B ®E 38 38 2.4| 35.6 53 {ir | E BLE 42 42 .8| 37.2
v =k FEN 37 37 1.2 35.814 54 L | AF HIFH 48 481 10.8] 37.2
il #% T 43 3] 12| 358/} F4-R 245 55 fir | fiEE FLAR 48 48| 10.8| 37.2
6L |BE BR 37 37 1.2 35.8 56 fif | FME AT 47 47 9.6] 37.4
17 L | Fi77 B 42 42 6.01 36.0 57 fir | BIF & 47 47 9.6] 37.4
18 iz | FAf FHETF 42 2] 6.0 36.0/]F4-RIM 58 {if | Pids =(E 47 47| 9.6| 31.4
19 7 |PE #F 42 42 6.0, 36.0 59 {if |4 A HER 59 59| 21.6] 37.4
R0, f| IR B 48 48| 12.0 36.0 60 fir | P IT 47 47|  9.6| 37.4
21 fir (Fi+mH & 42 42|  6.0] 36.0 61 fir | AKT EH 41 41 3.6] 37.4
Qo fiD ek ek 47 47] 10.8] 36.2 62 i | kT4 Bk 47 47]  9.6| 37.4
23 fir | KK fi 47 471 10.8] 36.2 63 {i | BE Hifn 40 40 2.4 37.6
24 fir | (Lh AR 47 471 10.8} 36.2 64 {if | E4 B3k 40 40 2.4 37.6
05 {i| A &S 47 47| 10.8{ 36.2 65 it | /NI IR 46 46 8.4] 237.6
26 {7 (&1L 75 47 471 10.8{ 36.2 T 40 40 2.4] 37.6
27 fif [ KK FEIR 47 471 10.8| 36.2 67 {7 | R =i 45 45 7.2 37.8
28 i [ {HK B2 40 40 3.61 36.4 68 fir | THE 7% 45 45 7.21 37.8
29 {iL | hiE &F 46 46 .61 36.4 69 {ir | &I FER 45 45 7.2| 37.8
B0_{iC | B 15 46 46 9.6 36.4 70 (i it FE 45 45| 7.2 31.8
31 fir | FE A% 52 52| 15.61 36.4 71 i | Wk EF 39 39| 12| 37.8
32 i {0 E 52 52| 15.6! 36.4 72 fr | VR e 63 63| 25.2] 37.8
3 {ip) AE HiZ 45 45 8.4 36.6 73 fi Kk BR 44 44 6.0/ 38,0
M @A FH 45 45 8.4 36.6 74 L | FTE IEF 44 44 6.0/ 38.0
B0 frl R 45 45 4| 36.6 75 (0| MEE 1= 44 44| 6.0 38.0
36 {ir | SFIR FET 45 45| 8.41 36.6 76 i | A B 50 50/ 12.0| 38.0
37 L [T ek 51 51/ 14.4! 36.6 =il = 43 43 4.8] 38.2
38 {ir | [l 45 45 45 8.4 36.6 78 fif | ST{E IEA 49 49! 10.8] 38.2
39 it | ] BT 50 50, 13.2] 36.8 79 {if | 3 1B 43 43 4.8| 38.2
40 {7 KA B 44 44] 7.2] 36.8 %80 {i7 | ifi)l| EF 43 43| 4.8] 38.2
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BAfE Bt : 4F0 4511H 8H (%) NFH )= T
R U TR SN : 128 A (B4 : 103 A - 4otk 250)
HDCP LR - T T4 . L
BLE—n: B Q@EO® #H O@DDO® 2/ 2
FUEAIHE ©  Fi (@EVIE) - BT NSV ENRI . 4F0 44E11H 8B (k)
JEAT BMEL 1 7 GROSS | HDCP | NET 5 JELT Ik th i) GROSS | HDCP | NET i
81 fir |{fk il 49 49| 10.8| 38.2 121 fir | ARk HHH 51 51 9.6 41.4
82 fir | KM FHH 49 49| 10.8] 38.2 LRI 50 50| 8.4| 41.6
83 fir | /i flEkE 48 48 9.6] 38.4 123 fif | 25 BB 54 54| 12.0] 42.0
84 {7 [WIJEAR FHFk 42 42 3.6] 38.4 124 {7 | U EE 48 48 6.0/ 42.0
85 [ | ot /¥ 48 48] 9.6/ 38.4 @25 {2 HH 3 65 65| 22.8| 42.2
86 {if | KiF BEF 54 54| 15.6] 38.4 126 {i | fEx A TT 56 56| 13.21 42.8
87 {if (fex AR K= 41 41 2.4 38.6 B eEs A 56 56| 12.0f{ 44.0
B A #ot 53 53| 14.4] 38.6 NSFASE B_M M AET 61 61| 16.8] 44.2
89 fir | /It HEA 46 46 7.2] 38.8 i
90 fir | THF IERER 46 46 7.2 38.8
91 fir | F%F ok 52 521 13.2 38.8
92 fir R T 16 46 .21 38.8
93 fiz | B ¥ 46 46 .2{ 38.8
94 {if | HEE 52 520 13.2] 38.8
95 fir #hl HEA 39 39 0.0/ 39.0
96 f |1/ M RE 39 390 0.0/ 39.0
97 fir | =& #¥E 57 57| 18.01 39.0
98 {ir | JII5FM Bk 45 45 6.0{ 39.0
Qg e thm #E 44 44| 48] 39.2
400 fiT| 4R Bk 56 56| 16.8] 39.2
101 fi7 | A BT 49 49!  9.6] 39.4
102 fir | 284 i) 49 49 9.6] 39.4
103 fiz | Foll 4 49 49 9.6| 39.4
104 fi | AFF FF 55 550 15.6] 39.4
105 {ir | 878 #p 48 48 8.4| 39.6
106 {7 | HEEN i 54 54| 14.4]| 39.6
107 i [fRIRK 1B 48 48 8.4/ 39.6
108 i |3 AE 41 41 1.2 39.8
109 fir | /N E 46 46 6.0/ 40,0
110 ip| B &7 52 521 12.01 40.0
11 (6| BR %A 56 56| 15.6| 40.4
112 fir | FHE &k 43 43 2.41 40.6
113 fif [# E B 49 49 8.41 40.6
114 fif | Kig 157 48 48 7.21 40.8
115 i | Em 3% 54 54 13.2] 40.8
116 fir | fE7E 5+ 42 42 1.2] 40.8
117 {7 | 3@ g+ 54 54| 13.2] 40.8
118 {if | ji§E 47 47 6.0 41.0
119 {if {1 #5] 46 46 4,8] 41.2
120 fizlRTE BRIA 51 51) 9.6] 41.4




